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CH. – 6. SPECTRUM   AND   COLOURS 

Question – 1. Name any two electromagnetic waves which have a frequency hogher than that of violet light. State one use of each. 

Question – 2. Name any four regions of electromagnetic spectrum (other than visible light) in increasing order of wavelength. 

Question – 3. Name the extreme colours in a pure spectrum of light. 

Question – 4. Fill in the blank space with appropriate colours 

(a) Green + Magenta = _______                     (b) Red + _______ = Yellow 

(c)Blue + _______ = Cyan                              (d) Red + Blue = ________ 

(e) Yellow + Blue = ________                        (f) Magenta + Green = ________ 

(g) Cyan + Red = ________                             (h) Red + Blue + Green = ________ 

Question – 5. What will be the colour of an object which appears green in white light and black in red light ? 

Question – 6. A flag is made up of three strips of cloth of yellow, white and cyan colours. Name the colour of a particular light in which this flag will appear to be of a single colour. 

Question – 7. White light is passed through a yellow filter. What colour is (colours are) seen on a screen placed at the end ? if the light emerging from the yellow filter is the passed through a red filter, what will be seen on the screen placed at the end ? 

Question – 8. When yellow paint and blue paint are mixed we get green colour. When yellow light and blue light are mixed, white light is obtained. Give reasons. 

NUMERICALS 

Numerical – 1. A TV station transmits waves of frequency 200 MHz. Calculate the wavelength of the wave if their speed in air is 3.0 × 108 m s-1. 

Solution :-  Here, v = 200 MHz = 200 × 106 Hz,    c = 3 × 108 m s-1
                   Using  c = v λ we have,  λ = c/v = (3 × 108) / (200 × 106) 

                                                                       = 3/2 = 1.5 m. [Ans.] 

Numerical – 2. What is the wavelength of the electromagnetic wave whose frequency is 1012 Hz ? 

Solution :-  Here, v = 1012 Hz, c = 3 × 108 m s-1 

                   Using c = v λ we have, λ = c/v = 3 × 108 / 1012 = 3 × 10-4 m. [Ans.] 

